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1} Provide the products of the following reactions. If no reaction would occur, then write NR. me all
possible stereoisomers (i.e., draw dashed and bold lines as needed) and indicate if they would be d:
in equal or un:&uat amounts. There is an appropriate aqueous work up for each reaction UNLESS

OTHERWISE NOTED (2 points each answer except where indicated).
O
. CI’Kr o ©
LDA ! -78°C \_,.- ot % %f
A) {NO WORKUP!}
a

B) EMJ\@\)‘E&!H I NaOEL N

{NO WORKUPY)

O g ta Ay
e 8 MeOH / NaOMe ?ji et ! R
Dj ‘J’ ~ 5: e + /
) |

I
2 . WS f £—=al}
ELOH / FUAT g %
R gl S5 Mo & T A
0]

1) Bu,BOTS/ o L L E
S i T e
& | oy

{1 pt)



Chem 3331 Exam 3, 2006 Name page 3

2) Complete the syntheses shown below using organic reagents of 7 carbons or less and any inorganic
reagents you wish. If your synthesis rcﬁun:s more than one step, vou must write the product of each step.
You do not have to include aqueous work up conditions in your syntheses,
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3 Prowide mechanisms for the reactions shown below . Be sure to show all steps, including work up and
all  intermediates, amows, and charges.
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4y Rank the following compounds in order of their reactivity as electrophiles (2 pts each, no partial credit).

Indicate the most reactive here — 15 = &
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A) Indicate the least reactve nere  — A A B C
indicate the most reactive here  — L & e -
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B) Indicate the most reactive here  — A B o
Indicate the most reactive here — p;, 0 o o

¢} Indicate the most reactive here — A B C



